TAQ NAN SCHOOL

PRIMARY 3-SCIENCE MID-YEAR EXAMINATION — 2010

" Name: ( ) Date:12 May 2010

Class : P3 Time : 8.00 a.m. fo 9.15 a.m.

Booklet A

INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
Follow all instructions.carefully.

Answer all questions.

Score Marks
“BookletA | | 4o
BookletB | 40
Total - 100 -

Parent's Signature -



gooklet A (30 x 2 marks)

For each question, choose the most svitable answer and shade ifs
cotresponding oval (1, 2, 3 or 4) in the optical response sheet.

1} Tom left his pot of plant by an opened window for a week. The plant
grew as shown below. Which characterdstic of a plant is shown?

(1} A plant needs air.

(2} A plant needs food.

{3) A plant needs water.

(4) A plant needs sunlight to make food.




2) Lshan kept two adult hamsters in- a cage. After 2 montihs, the number
of hamsters had increased.

Which of the foilowing explains the increase in the number of hcmsters'?

(1} The hamsters grew..

{2) The hamsters reproduced.

(3} The hamsters were male and female
(4) The hamsters had air, water and food.

3} Which of the following is made from things that were never alive?

(1) iron bar

(2) cotton shirt-
(3} leather belt-
{4) paper plate

4).. Study the classification chc:rt below

Quter body coverlng
l i I |
Group A Group B Group C Group D
chicken érob cat crocodile
eagle lobster cow fizard
- duck prawn dog guppy

fn which group would you put the snail?

(1) Group Al
{2) Group B:
- ~-{3)-GroupC.
(4) Group D



5) Which of the following lives on land but- Iays eggs in water?

(1) turtle

(2} penguin
{3) mosquito
{4) crocodile

6} How are the animdais below classified?

Group X Group Y
Lion Cow
‘Shark Deer
Crocodile Rabbit
Polar bear Horse

(1} According fo the food they eat.

(2} According to the place they stay.

(3) According to the way they reproduce
(4) According to the outer body covering.

7). Which characteristic of a living thing does the diagram below show?

+{1)-A:plant can grow: -

(2) A plani can move.

(3} A plant can reproduce.
__(4).A plant can photosynthesize




8) A snail is placed in a jar with a wire mesh placed over it. The snail is

given water. After two weeks, it died. Explain why the snail died.

for

(1} i was not given dir.

{2) ¢t was not given sunlight.

(3} It was not given mineral salts;
(4) It was not given green plants



9} Which fruitis grouped correctly?

Ucny seeds

—

Smooth sktn
(3)
Banand

s in the mushtoom?

\ One seed
Smooth skin

-
|
i ' .
(1)
Wwatermelon

10) Where are the spore

(4

©)

‘ Hairy skin

]

(4)
Jackfruit




11) Which of the following about the Bird's Nest Fern and the butterily
is / are true? i

A Both are living things.
B: Both can move on their own.
C: Both have the ability o reproduce.
D: Both need only dir and food to survive.

(1) A and B only
(2} C and D oniy
{3) A and C only
(4) B and D only

12) A fish has scales on its body. What is the main purpose of the scales?

{1} To protect iis body.

{2) To keep the fish warm.

(3) To attract the opposite sex.

(4} To hide the fish from its enemies.

13) Which of the following has flowers which grows singly?

(A) rose plant
(B) orchid plant.
(C) ixora plant
(D) bougdinvilla

{1} Aand B-only
{2) A and D only
(3) 8 and C only
{4} C and D only



exhibition. From a distance, there was

14} Mr Lim took his pupils fo a plant
ming from a plant. Which plant did

a strong smell of rotting meat co
the smell come from?

{1} Hibiscus plant
(2) Jasmine plant
(3) Rafflesia plant
(4) Frangipani plant

i5) Study the money plant. The main function of the root is fo take in
water. What is the other function of the root?

root ' % root
i ¥
- o -. . 4-3,
‘m.,c__'—'i‘.‘,:f"é': .‘-. T ..-__,:-i-“‘:—-..__'—"

(1} To stare food.

(2} To take in water.

(3} To climb for sunlight.

(4) To grow into a new plant.




16] Which of the following are used in making cheese and yoghurt?

{1} Fungi

(2) Viruses
(3) Bacteria
{4) Maggots

17) Andrew saw an animal that crawls. If feeds on fruits only and -
has an outer coveting of scales. With reference to the classification
chart below, which of the following can Andrew place the animal in?

Animails

Herbivores
|
B ]
Can Cannot
crawd crawl
I |
(2)

(1)

Omnivores

{

“Can
crawl

i

Have scales \ No scales

|
(3)

|
(4)

——

I Cannot
crawl




18): A cleanersaw d flock of crows peéking-a’r a packet of left-over

tood in a dustbin. He yelled at them. They flew away. What does
this show? :

{A} Crows need food.

{8) Crows can reproduce.

{C) Crows move by themselves.

{D) Crows respond to changes around them..

(1} A. B and C only
(2) A. B and D only
(3) A, C and D only
(4) B, C and D only

19) Study the classification chart betow.

‘ Living Things

\'

| l
X Y
Mushcoom | | Moss
Bacteria ' Dragon's Scale Fern
Bread moutd Staghom Fern

" Which of the following is the heading for X and Y?

X Y
(1} |Reproduce from spores . | Reproduce from seeds.
(2) | €anmove onits own | . Cannot move oniifs own .
(3} - | Depend on others for food Make its own food
[ [teokforfood -~ iBonotlookforfooc . N




20} Which of the following is not a part of a Befta Splenden?

{1} Scales
(2) Feelers
(3) Dorsal fin
(4) Gill cover

21) The table below shows how two animals, P and Q. are classified.

With feathers
Can Fly Cannot Fly
Glve bidth to Lay eggs Give birth fo Lay eggs
young dlive on land young dalive onland
P ' Q

Which of the following are (ne?

A: P can fly but Q cannot fly.

B P and Q are birds.

C: P and Q give birth fo young dalive. .
D: P and Q lay eggs on land.

(1} Aand C only
(2) B.and D only
{3} A. B and D only
{4) B, Cand D only

I



22} Study the classification chart below. Which group of animals has been

classified wrongly?
\ Animals _ \
| | ‘
Fish Mammal insect Bird
Seal Plafypus Ant {. Crow
Whale Lion Fruitfly Duck
Sea lion Pig Beelle Parrot
(1) Bird
{2} Fish
(3] insects
(4) Mammal

bserved some animals. She recorded her observations in the

23} Mary o
table below.
Observation i Ant | Splder_‘ gutterfly | Mo'-squ_itﬂ
Has antennae? | Yes No Yes Yes
Has three padirs of legs? |  Yes - No No " - Yes
| Has three body parts? | Yes = Yes Yes | No
Which of the animais is accurately observed?
(1) Ant
(2) Spider
{3) Buttertly

(4) Mosquito

12




24} The diagram bhelow shows the choyacten'sﬁcs of Animal X.

Has six tegs Eats and destroys wood

\

Animal X

Can fly

Lays eggs

what can Animal X be?

{11 Termite

(2} Ladybird

(3) Damseifly
(4] Grasshopper

125} -‘Which of the following about bacieria are triue?

A: Bacteria can be useful or harmiul. -
B: Bacteria are living things.

C: Bacteria are micro-organisms.

D: Bacteria can be found on us

(1) A and'B only
(2) Cand D only
{3) B. C and D only
(4 A.B,Cand D

26) How do fungt obtain their food?

{1} They find their own food.
(2) They make their own food.
{3} They take in minerai salts from the soil for food.
e ... {4) Thev depend on other planis and animdis forfoad. oo oo

13



27) Danny wanfed fo make a shelf to put 50 potted plants in his garden.
- Whaf properties should the sheif have to support the potted plants?

A it must be hard.

B: It must be absorbent.
C: It must be flexible.
D: It must be durable.

(1) Aand B only
{2) A and D only
(3) B and C only
{4) C.and D only

28) In what way are the materials used to make the things below simitar?

. | Rubber wheel N ew spaper

(1) They are from plants.
" (2) They are man-made.
(3) They are from animals
{4) They are from the ground.

14




29] There are four bags that are made from different nmaterials. |

Bag A Bag B Ba .'
Silk 9 99

Plastic wWool Cotton

Which bag will b~ most suitable if you are going for a swim? Why?

{1} Bag A because itis ight.

(2) BagBbecauseitls waterproof.
(3). Bag C because it absorbs water.
(4) Bag D because it keeps you warm.

30) W XY and Z are thin strips of different materials. They were soaked in
water. Affer ten minutes, the stips absorb water to different levels as

shown in the diagram below. Which stip is the most absorbent
material?

(W
(2 X
(3}Y
(4) 2

15,
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section B (40 marks)

Wiite your answets in the space provided.

31. Study the figures below.

A CERVANSRE)
RO

H

Compleie the classification table below to show how the figures can be grouped.

{2 marks }

i7



39, §fudy the classification chart below.

Animals
|
Llive in water Live on land
{ !

i | l 1
Does not Has many Has Does nof
have legs legs many legs have legs

! | N

A B C

| l
Has two Has four Has eight
legs llegs legs
| 1' T~
D E F

Match the lefters A, B, C, D, E and F fo the animals they represent in the

table below. Write the suitable letter in the box provided.

| {3 marks)

Animals.

Letter

Spider ~ -

Polar bear

Cobra

Crab

Seahorse

Ostrich

18




33, Classify the leaves below according to their edges in
classification chart below.

the
( 4 marks )

Lobed edge

19

Toothed edge




© 34. Studly the picture of the silverfish below.

pu—

4"
=
-

a) identify its abdomen, thorax, head and legs. Wiite the words in the

suitable boxes provided. - (2 marks }

b} The silverfish is an insect. Explain why. (1 ok )

20




15 What material are raincoats made .of?"EXplain why. (2 marks )

34. Write ‘T' if the statement is frue or ‘F"if the statement is false in the
poxes provided. Edit the statements that are fatse and write the
correct statements on the lines provided. ( 4 marks )

Statement

T/F

i} Plants make food in the presence of light.

ii) All plants have flowers. :

|iii)The stem carries water, food and miﬁerql_ salfs to all parts of the |
plant. I

1) After the fruits are developed: the flowérsbioom. |

th!




37. MrTan drives his car to work everydqy'.

ai}

ai)

 aiil) -
\

(a) Wiite the most suitable maferial used fo make the parts of the carin
the boxes iabelied above. {1 mark)

(b} Explain why the material that you have chosen in box (ai) is the most
suitable. (1 mark)

(c).MrTan'sson, Ben. said that their car is a living thing because it can
move onits own. Is he correct? Explain why. ' (1 mark)

2




18, Look af the picture of an eagle below.

(a) Based on the picture, state one observable characteristic the eagle

has. (1 mark}
{b) How does an eagle reproduce? | (1 mark)
39. Study the fable below.
Groups | P | Q R R
1 Objects Neck tie Eraser Cain
- ' Handkerchiet Stapler Bracelet
Scarf SCissofs Gold neckiace
~ (a}ln which group should you place.a ruler? {1 mark]
 (b)Give areason for your answerin (al. e




40. The picture below shows a kettle.

(a) Whatis a suitaﬁle material to make the parts, X and Y, of the kettle?

Tick ( V) the suitable materdal in the boxes below. (1 mark)
Part ' _ Material
X iron _ plastic
Y rubber stainless steel .
-

{b) Explain why you chose the material in {a) for the parts, X and Y.
(2 marks)

24




41. Look at the picture of a bearand a goldfish. How are they

different? (3 marks)

goldfish

Ditference between

' bear goldfish
‘a) Body covering . 1 —
b} Movement
¢} Reproduction ' .
i
|

. 25




472. The chart below shows the charc:c’reﬁ'sﬁcs of 5 different animats
represented by A, B, C. D and E. '

Animals
Is‘it Yes Does it lay Yes" A
’ - .. v ?
warm-blooded? egus!
No ‘ No
B
‘ -
Does it live in Yes Does it have a Yes
water? v shell? "1 C
i No ' : No

h h

L=l [ o

a) Name one common characteristic of the animals, A on_q-i 8. (1 mquj

b) Describe the animal, E. (2 marks]

C)thhs 1h‘é'differen‘ce bétween the ahimals, C aidD? (1 mark)

26
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Tl B N R Y, Yy Yy
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ed to find outif theﬁmoqn’r of water on the pread would

43. John want
growih of mould.

- affectthe

rved on Bread B

Al the end of the exper‘tment, more mould Was obse

than pread A.

how the vanables that must

n the suitable boxes fos
der to camy out @

o) Putatick{ ¥ 1
and that must be changed in of
(1 raark)

be kept the same

_ fair test.
| i fhe same '
pmountofwater ——

| size of bread o
Where the bags aré placed

mould. [ 1 mark )}

‘ w
ner than.

what.are the .cOndiﬂons.ne.eded for the.moutd-to gl_'O'}_d_-*{Q_t
e Umﬂfkl I

thatin Y2 oo

‘ .
-
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44. Eugene dropped four objects into a tank of water.
The diagram below shows the resfing positions of the four cobjecits.

cork

Styrofoam

fank

marble

Complete the classification chart below based on the diagram above.
{2 marks)

Objects

28

1. ' :
rmarble : ;
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4 2 1 2 3 1 2 4 3 3 3 1 1 3 3 3

Q18! 0Q191Q20 | Q21 | Q22| Q23 | Q24 | Q251 Q26 | Q27 | Q28 | Q29 | Q30

3 3 2 3 2 1 1 4 4 2 1 2 1

31)A,C,E,G,H,F,B,D
A,C,E,G,H,F,B,D

32)F,E,C,B,A,D

33D [/ C
A / B
34)a) | " - ‘

)

1 \ :_'Hlb Moy ‘I

fead

i

.&Mamer\ |

ey

b)It has three body parts and six legs.
35)Raincoats are made of plastic because plastic is waterproof and flexible.

36)i)T ii)Not all plants have flowers.
iti)T  iv)Before the fruits are developed, the flowers bloom.
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37)ai)glass aii)metal aiii)rubber
b)It is transparent.

©)No. A car cannot move on its own. It can only move when people driven it.

38)a)It has feathers.
b)It lays eggs.

39)a)Group Q.
b)Eraser, stapler and Scissors are stationery.

40)a)X: plastic Y: stainless steel
b)X: Plastic is a poor conductor of heat.
Y: Steel is a good conductor of heat.

41)a)hair | scales
b)walks / swim
c)give birth / layeggs

42)a)They are both warm-blppded.
b)1t is not warm-blooded and does not live in water.

c)Animal C has a shell but animal D does not have a shell.

43)a) Y
J
J
v
J
b)B had more water than A.
C)AIr.
44) sink float
marble stapler cork styrofoam
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